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QUESTION 1

ITS, scalability and load balancing, what are the 6 possible landscape?
A. Single Wgates connects to multiple Agates

B. Separate WGates connects to single Agate

C. Multiple WGates connects to multiple Agates

D. ITS connects to single Application server

E. Using groups at the creation dolmen level

F. Multiple ITS instances connect to single systems

G. ITS connects to message server (Load balancing)

Correct Answer: ABCDFG

QUESTION 2

What is the measure for each source of risk?
A. Organizational Measures

B. Technical Measures

C. Environmental measures

D. Access Control

E. System Access Control

Correct Answer: ABC

QUESTION 3

What is the transaction to maintain and activate the security audit log?
A. SM19

B. SM20

C. SM21

D. SM22

E. SM23

Correct Answer: A
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QUESTION 4

What is an ITS service?

A. Multiple ITS instances connect to single systems

B. An ITS service is the set of components needed to call an SAP transaction via the ITS

Correct Answer: B

QUESTION 5

What are the 3 main windows of the Organization plan transaction?
A. Organizational Structure window

B. Staff Assignments window

C. Task Profile window

D. Work task window

Correct Answer: ABC
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